The Mean Electrical Axis

The QRS mean electrical axis can be calculated by plotting the vectors of two of the
three standard leads (lead I, lead Il and lead I11) on a grid as shown on the left. The grid
is simply a rearrangement of Einthoven's triangle as shown in the diagram below.
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To calculate the mean electrical axis of the QRS complex in this example, standard leads
I and 111 were used but any combination of two of the three could have been used. The
vectorial sum of the deflections of the QRS complex for each lead is calculated in
millimeters. In this example the Q wave is -2.5 mm deep and the R wave is +16 mm high
to give a sum of +13.5 mm for lead |

Step One:

The point corresponding to this sum is then located on lead I (the positive direction being
towards the arrow of each lead) and a perpendicular is dropped from lead 1.

-90°
-120° -60"

—150* —%g° Lead 1

R=+16
Sum
g=-2 5}+13.5

180° 3 0* Leadl
+30°

+150°

+120° +60°
Leadll  +90° Leadll



Step Two:

The same is done for
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Step Three:
A line is then drawn from the center of the grid through the point of intersection of the two

perpendicular lines to obtain the mean electrical axis. In this case, the mean electrical axis of
the QRS complex is which is within the normal range.
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